RESEARCH





Existence of common fixed point and best proximity point for generalized nonexpansive type maps in convex metric space

Savita Rathee^{1†}, Kusum Dhingra^{1*†} and Anil Kumar^{2*†}

*Correspondence: dhingrakusum242@gmail. com; anilkshk84@gmail.com [†]Savita Rathee, Kusum Dhingra and Anil Kumar contributed equally to this work ¹ Department of Mathematics Maharshi Dayanand University, Rohtak, Haryana 124001, India ² Department of Mathematics, Government College Bahu, Jhajjar, Haryana 124142, India

Abstract

Here, we extend the notion of (E.A.) property in a convex metric space defined by Kumar and Rathee (Fixed Point Theory Appl 1–14, 2014) by introducing a new class of self-maps which satisfies the common property (E.A.) in the context of convex metric space and ensure the existence of common fixed point for this newly introduced class of self-maps. Also, we guarantee the existence of common best proximity points for this class of maps satisfying generalized non-expansive type condition. We furnish an example in support of the proved results.

Keywords: Common property (E.A.), Common fixed point, Best proximity point, Compatible maps, q-affine, pq-affine

Mathematics Subject Classification: 46T99, 47H10, 54H25

Introduction and preliminaries

In 2002, Aamri and El Moutawakil (2002) obtained the notion of (E.A.) property for a single pair of self-maps. In the recent past, Liu et al. (2005) introduced common property (E.A.) and extend the concept of (E.A.) property defined by Aamri and El Moutawakil (2002) to two pairs of self-maps.

Definition 1 (Liu et al. 2005) Two pairs (*A*, *S*) and (*B*, *T*) of self-maps of a metric space (X, d) are said to satisfy the common property (E.A.) if there exist two sequences $\{x_n\}$ and $\{y_n\}$ in X such that

$$\lim_{n \to \infty} Ax_n = \lim_{n \to \infty} Sx_n = \lim_{n \to \infty} By_n = \lim_{n \to \infty} Ty_n = t \text{ for some } t \in X$$

In 1970, Takahashi (1970) introduced the notion of convexity into metric space and proved several fixed point theorems for nonexpansive mappings in the context of convex metric space. Then after, Beg and Azam (1987), Fu and Huang (1991), Ciric (1993), and many others have obtained fixed point theorems in convex metric spaces. Very recently, Kumar and Rathee (2014) defined the concept of (E.A.) property in the setup of convex



© The Author(s) 2016. This article is distributed under the terms of the Creative Commons Attribution 4.0 International License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted use, distribution, and reproduction in any medium, provided you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons license, and indicate if changes were made.

metric space and ensure the existence of common fixed point for a pair of maps satisfying this property by omitting the assumption that the range of one map is contained in other.

In the present work, we define the concept of common property (E.A.) in the context of convex metric space and extend the results of Kumar and Rathee (2014) to four self-maps by utilizing this newly introduced concept. Further, we ensure the existence of common best proximity point for generalized non-expansive type maps.

Before going to the main work, we recall some standard notations, known definitions and results which is required in the sequel. Throughout this paper, \mathbb{N} and \mathbb{R} denote the set of natural numbers and the set of real numbers, respectively.

Definition 2 (Takahashi 1970) Let (X, d) be a metric space. A continuous mapping $W : X \times X \times [0,1] \to X$ is called a convex structure on X if, for all $x, y \in X$ and $\lambda \in [0,1]$, we have

$$d(u, W(x, y, \lambda)) \le \lambda d(u, x) + (1 - \lambda)d(u, y)$$
⁽¹⁾

for all $u \in X$.

A metric space (X, d) equipped with a convex structure is called a convex metric space.

Definition 3 A subset *M* of a convex metric space (*X*, *d*) is called a convex set (Takahashi 1970) if $W(x, y, \lambda) \in M$ for all $x, y \in M$ and $\lambda \in [0, 1]$. The set *M* is said to be *q*-starshaped (Guay et al. 1982) if there exists $q \in M$ such that $W(x, q, \lambda) \in M$ for all $x \in M$ and $\lambda \in [0, 1]$.

Clearly, each convex set M is starshaped with respect to any $q \in M$ but the converse assertion is not true. Thus, the class of starshaped set properly contains the class of convex set.

Definition 4 (Guay et al. 1982) A convex metric space (X, d) is said to satisfy the Property (I), if for all $x, y, z \in X$ and $\lambda \in [0, 1]$,

$$d(W(x,z,\lambda),W(y,z,\lambda)) \le \lambda d(x,y).$$
⁽²⁾

A normed linear space *X* and each of its convex subset are simple examples of convex metric spaces with *W* given by $W(x, y, \lambda) = \lambda x + (1 - \lambda)y$ for all $x, y \in X$ and $0 \le \lambda \le 1$. Also, Property (I) is always satisfied in a normed linear space. There are many convex metric spaces which are not normed linear space, for details (see Guay et al. 1982; Takahashi 1970).

Definition 5 Let (X, d) be a convex metric space and M be a subset of X. A mapping $I : M \to X$ is said to be

- (1) affine (Al-Thagafi and Shahzad 2006; Huang and Li 1996), if *M* is convex and $I(W(x, y, \lambda)) = W(Ix, Iy, \lambda)$ for all $x, y \in M$ and $\lambda \in [0, 1]$.
- (2) *q*-affine (Al-Thagafi and Shahzad 2006; Kumar and Rathee 2014), if *M* is *q*-star-shaped and $I(W(x, q, \lambda)) = W(Ix, q, \lambda)$ for all $x \in M$ and $\lambda \in [0, 1]$.

Definition 6 Let (X, d) be a metric space, M a nonempty subset of X and let I and T be self-maps of M. A point $x \in M$ is a coincidence point (common fixed point) of I and T if Ix = Tx(Ix = Tx = x). The pair $\{I, T\}$ is called

- (1) commuting if ITx = TIx for all $x \in M$.
- (2) compatible (Jungck 1986) if $\lim_{n\to\infty} d(ITx_m, TIx_m) = 0$, whenever $\{x_n\}$ is a sequence in *X* such that $\lim_{n\to\infty} Ix_n = \lim_{n\to\infty} Tx_n = t \in X$.

For more details about these classes, one can refer to (see Agarwal et al. 2014). In 1998, Pant (1998) defined the concept of reciprocal continuity as follows.

Definition 7 (Pant 1998) Let (X, d) be a metric space and $I, T : X \to X$. Then the pair (I, T) is said to be reciprocally continuous if

$$\lim_{n\to\infty} ITx_n = It \quad \text{and} \quad \lim_{n\to\infty} TIx_n = Tt_n$$

whenever $\{x_n\}$ is a sequence in *X* such that $\lim_{n\to\infty} Ix_n = \lim_{n\to\infty} Tx_n = t \in X$.

It is easy to see that if I and T are continuous, then the pair (I, T) is reciprocally continuous but the converse is not true in general (see Imdad et al. 2011, Example 2.3). Moreover, in the setting of common fixed point theorems for compatible pairs of self-mappings satisfying some contractive conditions, continuity of one of the mappings implies their reciprocal continuity.

Definition 8 (Bouhadjera and Godet-Thobie 2009) Let *I* and *T* be two self-maps of a metric space (X, d). Then the pair (I, T) is said to be subcompatible if there exists a sequence $\{x_n\}$ such that

$$\lim_{n \to \infty} Ix_n = \lim_{n \to \infty} Tx_n = t \in X, \text{ for some } t \in X \text{ and } \lim_{n \to \infty} d(ITx_n, TIx_n) = 0.$$

Obviously, compatible maps which satisfy (E.A.) property are subcompatible but the converse statement does not hold in general (see Rouzkard et al. 2012, Example 2.5)

Definition 9 (Kumar and Rathee 2014) Let M be a q-starshaped subset of a convex metric space (X, d) and let $I, T : M \to M$ with $q \in F(I)$. The pair (I, T) is said to satisfy (E.A.) property with respect to q if there exists a sequence $\{x_n\}$ in M such that for all $\lambda \in [0, 1]$

$$\lim_{n \to \infty} I x_n = \lim_{n \to \infty} T_{\lambda} x_n = t \in M,$$
(3)

where $T_{\lambda}x = W(Tx, q, \lambda)$.

Obviously, if the pair (I, T) satisfy (E.A.) property with respect to q, then I and T satisfy (E.A.) property but converse assertion is not necessarily true (see Kumar and Rathee 2014, Example 12).

(6)

Main results

We start to this section with following definition.

Definition 10 Let *M* be a *q*-starshaped subset of a convex metric space (*X*, *d*) and let *A*, *B*, *S* and *T* : $M \rightarrow M$. Two pairs (*A*, *S*) and (*B*, *T*) are said to satisfy common property (*E.A.*) with respect to *q* if there exist two sequences {*x_n*} and {*y_n*} in *M* such that for all $\lambda \in [0, 1]$

$$\lim_{n \to \infty} Ax_n = \lim_{n \to \infty} S_{\lambda} x_n = \lim_{n \to \infty} By_n = \lim_{n \to \infty} T_{\lambda} y_n = t \in M,$$
(4)

where $S_{\lambda}x = W(Sx, q, \lambda)$ and $T_{\lambda}y = W(Ty, q, \lambda)$

Remark 11 In Definition 10, if A = B and S = T, then Definition 9 can be obtained as a particular case of Definition 10. Therefore the common property (E.A.) defined here extends the notion of (E.A.) property in convex metric space defined by Kumar and Rathee (2014).

The following Lemma is particular case of the Theorem 4.1 of Chauhan and Pant (2014).

Lemma 12 Let A, B, S and T be self-maps of a metric space (X, d). If the pairs (A, S) and (B, T) are subcompatible, reciprocally continuous and satisfy

$$d(Sx, Ty) \le \lambda \max\{d(Ax, By), d(Ax, Sx), d(By, Ty), d(Ax, Ty), d(By, Sx)\}$$
(5)

for some $\lambda \in (0, 1)$ and all $x, y \in X$. Then S and T have a unique common fixed point in X. Now, we start with the following theorem.

Theorem 13 Let M be a nonempty q-starshaped subset of a convex metric space (X, d)with Property (I) and let A, B, S and T be continuous self-maps on M such that the pair (A, S) and (B, T) satisfying common property (E.A.) w.r.t. q. Assume that A and B are q-affine, M is compact. If A, B, S and T are compatible and satisfy the inequality

 $d(Sx, Ty) \le \max\left\{d(Ax, By), dist(Ax, [sx, q]), dist(By, [Ty, q]), dist(Ax, [Ty, q]), dist(By, [Sx, q])\right\}$

for all $x, y \in M$, then $M \cap F(A) \cap F(B) \cap F(S) \cap F(T) \neq \phi$.

Proof For each $n \in N$, we define $T_n : M \to M$ and $S_n : M \to M$ by

$$T_n(y) = W(Ty, q, \lambda_n) \text{ and } S_n(x) = W(Sx, q, \lambda_n)$$
(7)

for all $x \in M$, where λ_n is a sequence in (0, 1) such that $\lambda_n \to 1$. Now we have to prove that for each $n \in N$, the pair (S_n, A) and (T_n, B) are subcompatible. Since A, B, S and T are satisfying the common property (*E.A.*) w.r.t. q, there exist two sequences $\{x_m\}$ and $\{y_m\}$ in M such that for all $\lambda \in [0, 1]$

$$\lim_{m \to \infty} Ax_m = \lim_{m \to \infty} S_{\lambda}(x_m) = \lim_{m \to \infty} By_m = \lim_{m \to \infty} T_{\lambda}y_m = t$$
(8)

for $t \in M$, where

$$\lim_{m \to \infty} T_{\lambda} y_m = \lim_{m \to \infty} W(Ty_m, q, \lambda)$$

and
$$\lim_{m \to \infty} S_{\lambda} x_m = \lim_{m \to \infty} W(Sx_m, q, \lambda).$$

Since $\lambda_n \in (0, 1)$, by using Eqs. (7) and (8) for each $n \in N$, we have

$$\lim_{m \to \infty} T_n y_m = \lim_{m \to \infty} W(Ty_m, q, \lambda_n)$$
$$= \lim_{m \to \infty} T_{\lambda_n}(y_m)$$
$$= t \in M.$$

Thus we have

$$\lim_{m \to \infty} By_m = \lim_{m \to \infty} T_n y_m = t \in M.$$
(9)

Similarly

$$\lim_{m \to \infty} S_n x_m = \lim_{m \to \infty} W(Sx_m, q, \lambda_n)$$
$$= \lim_{m \to \infty} S_{\lambda_n} x_m$$
$$= t \in M.$$

and so

$$\lim_{m \to \infty} Ax_m = \lim_{m \to \infty} S_n x_m = t \in M.$$
(10)

Hence in light of Eqs. (9) and (10), we obtain

$$\lim_{m \to \infty} Ax_m = \lim_{m \to \infty} S_n x_m = \lim_{m \to \infty} By_m = \lim_{m \to \infty} T_n y_m = t \in M.$$
(11)

Taking in to account that A and B are q-affine and by using Property (I), we have

$$d(S_nAx_m, AS_nx_m) = d(W(SAx_m, q, \lambda_n), A(W(Sx_m, q, \lambda_n)))$$

= $d(W(SAx_m, q, \lambda_n), W(ASx_m, q, \lambda_n))$
 $\leq \lambda_n d(SAx_m, ASx_m).$ (12)

Similarly, we can show that

$$d(T_n By_m, BT_n y_m) \le \lambda_n d(T By_m, BT y_m).$$
⁽¹³⁾

As (A, S) and (B, T) satisfy (E.A.) property w.r.t.*q* then these pairs also satisfy (E.A.) property and hence by using the compatibility of *A*, *S*, *B*, and *T* we get

$$\lim_{m \to \infty} d(BTy_m, TBy_m) = 0$$

and
$$\lim_{m \to \infty} d(ASx_m, SAx_m) = 0.$$

Taking limit $m \to \infty$ in Eqs. (12) and (13), we obtain

$$\lim_{m \to \infty} d(BT_n y_m, T_n B y_m) = \lim_{m \to \infty} d(AS_n x_m, S_n A x_m) = 0.$$
(14)

Taken into account Eqs. (11) and (14), it follows that (T_n, B) and (S_n, A) are subcompatible for each $n \in N$. Since A, B, S and T are continuous for each $n \in N$, the pair (S_n, A) and (T_n, B) are reciprocally continuous.

By using equation (6) and Property (I), we get that

$$d(S_nx, T_ny) = d(W(Sx, q, \lambda_n), W(Ty, q, \lambda_n))$$

$$\leq \lambda_n d(Sx, Ty)$$

$$\leq \lambda_n \max \left\{ d(Ax, By), dist(Ax, [Sx, q]), dist(By, [Ty, q]), dist(Ax, [Ty, q]), dist(By, [Sx, q]) \right\}$$

$$\leq \lambda_n \max \left\{ d(Ax, By), d(Ax, S_nx), d(By, T_ny), d(Ax, T_ny), d(By, S_nx) \right\}$$
(15)

for each $x, y \in M$ and $\lambda_n \in (0, 1)$. By Lemma 12, for each $n \in N$, there exists $x_n \in M$ such that

$$Ax_n = S_n x_n = Bx_n = T_n x_n = x_n$$

Now by taking the compactness of M, we know continuous image of compact set is compact so T(M) and S(M) are compact and every compact set is sequentially compact. Therefore there exist subsequences $\{Tx_m\}$ of $\{Tx_n\}$ and $\{Sx_m\}$ of $\{Sx_n\}$ such that $\lim_{m\to\infty} Tx_m = z$ and $\lim_{m\to\infty} Sx_m = y$.

Now, we have to prove that y = z.

On the contrary suppose that $y \neq z$, then we have

 $x_m = T_m x_m = W(Tx_m, q, \lambda_m) \to z \text{ as } m \to \infty$ and $x_m = S_m x_m = W(Sx_m, q, \lambda_m) \to y \text{ as } m \to \infty$.

This implies that the sequence $\{x_m\}$ converges to two points which is contradiction. Hence y = z.

Since $x_m \to z$ as $m \to \infty$ and the mappings *A*, *B*, *S* and *T* are continuous, it follows

Az = Tz = Sz = Bz = z.

So, z is common fixed point of A, B, S and T.

This implies that $M \cap F(A) \cap F(B) \cap F(S) \cap F(T) \neq \phi$.

Corollary 14 Let M be a nonempty q-starshaped subset of a convex metric space (X, d) with Property (I) and let A, B, S and T be continuous self-maps on M such that the pair (A, S) and (B, T) satisfying common property (E.A.) w.r.t. q. Assume that A and B are q-affine, M is compact. If A, B, S and T are compatible and satisfy the inequality

$$d(Sx, Ty) \leq \max\left\{d(Ax, By), dist(Ax, [sx, q]), dist(By, [Ty, q]), \frac{1}{2}[dist(Ax, [Ty, q]) + dist(By, [Sx, q])]\right\}$$
(16)

for all $x, y \in M$, then $M \cap F(A) \cap F(B) \cap F(S) \cap F(T) \neq \phi$.

Corollary 15 Let *M* be a nonempty *q*-starshaped subset of a convex metric space (*X*, *d*) with Property (*I*) and let *A*, *B*, *S* and *T* be continuous self-maps on *M* such that the pair (*A*, *S*) and (*B*, *T*) satisfying common property (*E*.*A*.) w.r.t. *q*. Assume that *A* and *B* are *q*-affine, *M* is compact. If *A*, *B*, *S* and *T* are *R*-subweakly commuting and satisfy the inequality

$$d(Sx, Ty) \le \max\left\{d(Ax, By), dist(Ax, [sx, q]), dist(By, [Ty, q]), dist(Ax, [Ty, q]), dist(By, [Sx, q])\right\}$$
(17)

for all $x, y \in M$, then $M \cap F(A) \cap F(B) \cap F(S) \cap F(T) \neq \phi$.

Now we present an example in support of our theorem.

Example 16 Let X = R endowed with usual metric and let $M = \left[-1, \frac{2}{3}\right]$. Define *A*, *B*, *S* and $T : M \to M$ by:

$$A(x) = \begin{cases} \frac{1}{3} & \text{if } -1 \le x \le \frac{1}{3} \\ \frac{5}{3} - 4x & \text{if } \frac{1}{3} \le x \le \frac{2}{3} \end{cases} \quad \text{and} \quad S(x) = \begin{cases} \frac{1}{3} & \text{if } -1 \le x \le \frac{1}{3} \\ \frac{x}{2} + \frac{1}{6} & \text{if } \frac{1}{3} \le x \le \frac{2}{3} \end{cases}$$
$$B(x) = \begin{cases} \frac{1}{3} & \text{if } -1 \le x \le \frac{1}{3} \\ 1 - 2x & \text{if } \frac{1}{3} \le x \le \frac{2}{3} \end{cases} \quad \text{and} \quad T(x) = \begin{cases} \frac{1}{3} & \text{if } -1 \le x \le \frac{1}{3} \\ \frac{x}{4} + \frac{1}{4} & \text{if } \frac{1}{3} \le x \le \frac{2}{3} \end{cases}$$

Then (X, d) is a convex metric space with the convex structure $W(x, y, \lambda) = (\lambda)x + (1 - \lambda)y$.

We have to check the following:

- (i) *A* and *B* are *q*-affine with $q = \frac{1}{3}$
- (ii) The pair (*A*, *S*) and (*B*, *T*) satisfying common property (*E*.*A*.) w.r.t. $q = \frac{1}{3}$.
- (iii) *A*, *B*, *S* and *T* are compatible.

Proof (i) If
$$x \in \left[-1, \frac{1}{3}\right]$$
, then $W\left(x, \frac{1}{3}, \lambda\right) = (\lambda)x + (1-\lambda)\frac{1}{3} \in \left[-1, \frac{1}{3}\right]$.
That implies $A\left(W\left(x, \frac{1}{3}, \lambda\right)\right) = W\left(Ax, \frac{1}{3}, \lambda\right)$.
Again, if $x \in \left[\frac{1}{3}, \frac{2}{3}\right]$, then $W\left(x, \frac{1}{3}, \lambda\right) = (\lambda)x + (1-\lambda)\frac{1}{3} \in \left[\frac{1}{3}, \frac{2}{3}\right]$, so we get
 $A\left(W\left(x, \frac{1}{3}, \lambda\right)\right) = \frac{5}{3} - 4\left(W\left(x, \frac{1}{3}, \lambda\right)\right)$
 $= \frac{5}{3} - 4\lambda x - 4(1-\lambda)\frac{1}{3}$
 $= \frac{1}{3} - 4\lambda x + \frac{4}{3}\lambda$
 $= \frac{1}{3} + 4\lambda\left(\frac{1}{3} - x\right)$

and

$$W\left(Ax, \frac{1}{3}, \lambda\right) = W\left(\frac{5}{3} - 4x, \frac{1}{3}, \lambda\right)$$
$$= \lambda\left(\frac{5}{3} - 4x\right) + (1 - \lambda)\frac{1}{3}$$
$$= \frac{5}{3}\lambda - 4\lambda x + \frac{1}{3} - \lambda\left(\frac{1}{3}\right)$$
$$= \frac{1}{3} + 4\lambda\left(\frac{1}{3} - x\right).$$

Thus, $A\left(W\left(x, \frac{1}{3}, \lambda\right)\right) = W\left(Ax, \frac{1}{3}, \lambda\right)$ for all $x \in M$ and hence A is q-affine with $q = \frac{1}{3}$. Now we shall prove that B is q-affine with $q = \frac{1}{3}$.

For this, if $x \in \left[-1, \frac{1}{3}\right]$, then $B\left(W\left(x, \frac{1}{3}, \lambda\right)\right) = W\left(Bx, \frac{1}{3}, \lambda\right)$. and if $x \in \left[\frac{1}{3}, \frac{2}{3}\right]$, then $W\left(x, \frac{1}{3}, \lambda\right) = (\lambda)x + (1-\lambda)\frac{1}{3} \in \left[\frac{1}{3}, \frac{2}{3}\right]$. Therefore, we have

$$B\left(W\left(x,\frac{1}{3},\lambda\right)\right) = 1 - 2\left(W\left(x,\frac{1}{3},\lambda\right)\right)$$
$$= 1 - 2\lambda x - 2(1-\lambda)\frac{1}{3}$$
$$= \frac{1}{3} + 2\lambda\left(\frac{1}{3} - x\right)$$

and

$$W\left(Bx,\frac{1}{3},\lambda\right) = \lambda(1-2x) + (1-\lambda)\frac{1}{3}$$
$$= \lambda - 2\lambda x + \frac{1}{3} - \frac{1}{3}\lambda$$
$$= \frac{1}{3} + 2\lambda\left(\frac{1}{3} - x\right).$$

So, $B\left(W\left(x, \frac{1}{3}, \lambda\right)\right) = W\left(Bx, \frac{1}{3}, \lambda\right)$ for each $x \in M$. This implies that B is q-affine with $q = \frac{1}{3}$.

Proof (ii) Clearly $A\left(\frac{1}{3}\right) = B\left(\frac{1}{3}\right) = \frac{1}{3}$.

Consider $x_n = \frac{1}{3} - \frac{1}{n+2}$, $n \ge 1$ and $y_n = \frac{1}{3} - \frac{1}{3n}$, $n \ge 1$ then for each n, x_n and $y_n \in [0, \frac{1}{3}]$ and for each $\lambda \in [0, 1]$, we have

$$\limsup_{n \to \infty} S_{\lambda} x_n = W\left(\frac{1}{3}, \frac{1}{3}, \lambda\right) = \frac{1}{3} = \lim_{n \to \infty} A x_n$$

and
$$\limsup_{n \to \infty} T_{\lambda} y_n = W\left(\frac{1}{3}, \frac{1}{3}, \lambda\right) = \frac{1}{3} = \lim_{n \to \infty} B y_n$$

This implies that the pair (*A*, *S*) and (*B*, *T*) satisfying common property (E.A.) with respect to $q = \frac{1}{3}$.

Proof (iii) Here, we shall prove that the pairs (A, S) and (B, T) are compatible.

If $\{x_n\}$ and $\{y_n\}$ are two sequences in M such that

$$\lim_{n \to \infty} Ax_n = \lim_{n \to \infty} Sx_n = t \text{ for some } t \text{ and}$$
$$\lim_{n \to \infty} By_n = \lim_{n \to \infty} Ty_n = k \text{ for some } k.$$

Then *t* and *k* lies in the closure of A(M), S(M) and B(M), T(M) respectively, where

$$Cl(A(M)) = \begin{bmatrix} -1, \frac{1}{3} \end{bmatrix} \text{ and } Cl(S(M)) = \begin{bmatrix} \frac{1}{3}, \frac{1}{2} \end{bmatrix}$$
$$Cl(B(M)) = \begin{bmatrix} \frac{-1}{3}, \frac{1}{3} \end{bmatrix} \text{ and } Cl(T(M)) = \begin{bmatrix} \frac{1}{3}, \frac{5}{12} \end{bmatrix}.$$

So $t = k = \frac{1}{3}$.

Therefore, by using the continuity of *A*, *B*, *S* and *T*, we have

$$\lim_{n \to \infty} ASx_n = A \lim_{n \to \infty} Sx_n = A\left(\frac{1}{3}\right) = \frac{1}{3}$$
$$\lim_{n \to \infty} SAx_n = S \lim_{n \to \infty} Ax_n = S\left(\frac{1}{3}\right) = \frac{1}{3}.$$

This implies that the pair (*A*, *S*) is compatible. Similarly we can prove that the pair (*B*, *T*) is compatible. \Box

Finally we have to prove the inequality (6). There are two possibilities: (i) x = y and (ii) $x \neq y$. (i) If x = y, then

Subcase (i): if $x = y \in \left[-1, \frac{1}{3}\right]$, then d(Sx, Tx) = 0. So the inequality holds trivially. Subcase (ii): if $x = y \in \left[\frac{1}{3}, \frac{2}{3}\right]$, then

$$d(Sx, Tx) = \left| \frac{x}{2} + \frac{1}{6} - \frac{x+1}{4} \right|$$

= $\left| \frac{6x + 2 - 3x - 3}{12} \right|$
= $\left| \frac{3x - 1}{12} \right|$
= $\frac{1}{4} \left| x - \frac{1}{3} \right|$
$$d(Ax, Bx) = \left| \frac{5}{3} - 4x - 1 + 2x \right|$$

= $\left| \frac{1}{3} - 2x \right|$
= $2 \left| x - \frac{1}{3} \right|$.

That implies $d(Sx, Tx) \le d(Ax, Bx)$. (ii) If $x \ne y$, then

Subcase (i): if $x \neq y \in [0, \frac{1}{3}]$, then d(Sx, Ty) = 0. Inequality trivially holds.

Subcase (ii): if $x \neq y \in \left[\frac{1}{3}, \frac{2}{3}\right]$, then

$$d(Sx, Ty) = \left| \frac{x}{2} + \frac{1}{6} - \frac{y+1}{4} \right|$$
$$= \left| \frac{6x + 2 - 3y - 3}{12} \right|$$
$$= \left| \frac{6x - 3y - 1}{12} \right|$$
$$= \frac{1}{2} \left| x - \frac{y}{2} - \frac{1}{6} \right|$$
$$d(Ax, By) = \left| \frac{5}{3} - 4x - 1 + 2y \right|$$
$$= \left| \frac{2}{3} - 4x + 2y \right|$$
$$= 4 \left| x - \frac{y}{2} - \frac{1}{6} \right|.$$

This implies
$$d(Sx, Ty) \le d(Ax, By)$$
.
Subcase (iii): if $x \in \left[-1, \frac{1}{3}\right]$ and $y \in \left[\frac{1}{3}, \frac{2}{3}\right]$, then
 $d(Sx, Ty) = \left|\frac{1}{3} - \frac{y+1}{4}\right|$
 $= \left|\frac{4-3y-3}{12}\right|$
 $= \left|\frac{1-3y}{12}\right|$
 $= \frac{1}{4}\left|\frac{1}{3} - y\right|$
 $d(Ax, By) = \left|\frac{1}{3} - 1 + 2y\right|$

$$= \left| 2y - \frac{2}{3} \right|$$
$$= 2 \left| \frac{1}{3} - y \right|.$$

Therefore, we get $d(Sx, Ty) \le d(Ax, By)$. Subcase (iv): if $x \in \left[\frac{1}{3}, \frac{2}{3}\right]$ and $y \in \left[-1, \frac{1}{3}\right]$, then

$$d(Sx, Ty) = \left|\frac{x}{2} - \frac{1}{6}\right|$$
$$= \frac{1}{2}\left|x - \frac{1}{3}\right|$$
$$d(Ax, By) = \left|\frac{5}{3} - 4x - \frac{1}{3}\right|$$
$$= 4\left|\frac{1}{3} - x\right|.$$

So, we have $d(Sx, Ty) \leq d(Ax, By)$.

Thus, for each $x, y \in M$, the mappings A, B, S and T satisfying the inequality (6). Also M is compact and A, B, S and T are continuous. Thus we conclude that A, B, S and T satisfying all the conditions of Theorem 13 and consequently

 $M\bigcap F(A)\bigcap F(B)\bigcap F(S)\bigcap F(T)\neq \phi.$

Here $\frac{1}{3} \in M$ is such a common fixed point of *A*, *B*, *S* and *T*.

Remark 17 It is to be noted that, in Example 16, $S(M) \not\subset A(M)$ and $T(M) \not\subset B(M)$. Therefore all the existing common fixed point theorems which ensure the existence of common fixed point for the maps under the hypothesis that range of one set is contained in other are not applicable to Example 16 (see Chen and Li (2007), Rathee and Kumar (2014a, b), Shahzad (2001)).

Application to invariant approximation

For a nonempty subset *M* of a metric space (*X*, *d*) and $p \in X$, an element $y \in M$ is called a best approximation to *p* if d(p, y) = dist(p, M), where $dist(p, M) = \inf\{d(p, z) : z \in M\}$. The set of all best approximations to *p* is denoted by $P_M(p)$.

As an application of Theorem 13, we present an invariant approximation theorems.

Theorem 18 Let A, B, S and T be self-maps of a convex metric space (X, d) with Property $(I), p \in F(S) \cap F(T) \cap F(A) \cap F(B)$, and M be a subset of X such that $S(\delta M \cap M) \subseteq M$ and $T(\delta M \cap M) \subseteq M$, where δM denotes the boundary of M. Suppose that $P_M(p)$ is nonempty, q-starshaped with $A(P_M(p)) \subset P_M(p)$ and $B(P_M(p)) \subset P_M(p)$ and also the maps A and B are q-affine and continuous on $P_M(p)$. If the pairs (A, S) and (B, T) are compatible, satisfy the common property (E.A.) w.r.t. q and also satisfy the inequality for all $x, y \in P_M(p) \cup \{p\}$

$$d(Tx, Sy) \leq \begin{cases} d(Ax, Bp) & \text{if } y = p \\ \max\{d(Ax, By), dist(Ax, [sx, q]), dist(By, [Ty, q]), \\ dist(Ax, [Ty, q]), dist(By, [Sx, q])\} & \text{if } y \in P_M(p), \\ d(Sx, Tp) \leq d(Tx, Sp). \end{cases}$$
(18)

Then A, B, S and T have a common fixed point in $P_M(p)$, provided that $P_M(p)$ is compact and the maps T and S are continuous on $P_M(p)$. *Proof* Let $x \in P_M(p)$. Then for all $\lambda \in (0, 1)$, we have

$$d(p, W(x, p, \lambda)) \le \lambda d(p, x) + (1 - \lambda)d(p, p) = \lambda d(p, x) < dist(p, M).$$

Therefore $W(x, p, \lambda) \notin M$ for any $\lambda \in (0, 1)$ and hence $x \in \delta M \cap M$. Thus, as $S(\delta M \cap M) \subseteq M$ and $T(\delta M \cap M) \subseteq M$, we have $Tx \in M$ and $Sx \in M$. Also, since $Ax \in P_M(p)$ and $p \in F(S) \cap F(T) \cap F(A) \cap F(B)$, by using Eq. (18), we get

$$d(Tx, p) = d(Tx, Sp) \le d(Ax, Bp) = d(Ax, p) = dist(p, M)$$

and

$$d(Sx, p) = d(Sx, Tp) \le d(Tx, Sp) \le d(Ax, Bp) = d(Ax, p) = dist(p, M).$$

Thus, $Tx \in P_M(p)$ and $Sx \in P_M(p)$. So A, B, S and T are self-maps on $P_M(p)$. In view of Theorem 13, we can say that A, B, S and T have a common fixed point in $P_M(p)$.

Define $D = P_M(p) \cap C_M^{A,B}(p)$, where $C_M^{A,B}(p) = \{x \in M : Ax \in P_M(p) \text{ and } Bx \in P_M(p)\}$

Theorem 19 Let A, B, S and T be self-maps of a convex metric space (X, d) with Property (I), $p \in F(S) \cap F(T) \cap F(A) \cap F(B)$, and M be a subset of X such that $S(\delta M \cap M) \subseteq M$ and $T(\delta M \cap M) \subseteq M$, where δM denotes the boundary of M. Suppose that D is non-empty, q-starshaped with $A(D) \subset D$ and $B(D) \subset D$ and also the maps A and B are q-affine and nonexpansive on D. If the pairs (A, S) and (B, T) are compatible, satisfy the common property (E.A.) w.r.t. q and also satisfy the inequality for all $x, y \in D \cup \{p\}$

$$d(Tx, Sy) \leq \begin{cases} d(Ax, Bp) & \text{if } y = p \\ \max\{d(Ax, By), dist(Ax, [sx, q]), dist(By, [Ty, q]), \\ dist(Ax, [Ty, q]), dist(By, [Sx, q])\} & \text{if } y \in D, \end{cases}$$
(19)
$$d(Sx, Tp) \leq d(Tx, Sp).$$

Then A, B, S and T have a common fixed point in $P_M(p)$, provided that D is compact and the maps T and S are continuous on D.

Proof Let $x \in D$. Then by following the steps as we have done in Theorem 18, we get that $Tx \in P_M(p)$ and $Sx \in P_M(p)$. Since the maps A and B are nonexpansive and $p \in F(S) \cap F(T) \cap F(A) \cap F(B)$, by using Eq. 19, we have

$$d(ATx, p) = d(ATx, Ap) \le d(Tx, p) = d(Tx, Sp) \le d(Ax, p) = dist(p, M)$$

and

$$d(BTx, p) = d(BTx, Bp) \le d(Tx, p) = d(Tx, Sp) \le d(Ax, p) = dist(p, M).$$

That imply ATx and $BTx \in P_M(p)$ and hence $Tx \in C_M^{A,B}(p)$. Similarly we can show that $Sx \in C_M^{A,B}(p)$. Thus we can say A, B, S and T are self-maps on D and so Theorem 13 guarantees the existence of $z \in P_M(p)$ such that z is a common fixed point of A, B, S and T. \Box

Best proximity point

First we discuss the concept of best proximity. Let $T : A \rightarrow B$ be a map where A and B are two nonempty subsets of a metric space (X, d) and let A and B are disjoint subsets of a metric space then the equation Tx = x might have no solution. Therefore in case of nonself-maps we are not sure about the existence of fixed point. In such a case we try to minimize the distance d(x, Tx) and a point x for which d(x, Tx) is minimum is called a best proximity point. In the recent years there have been many interesting best proximity point theorems are proved, for example, see De la Sen et al. (2013), Eldred and Veeramani (2006), Prolla (1983), Reich (1978), and Sankar Raj (2011), Sehgal and Singh (1988). In the present section we prove a new best proximity theorem for four maps but before this we recall some definitions which are required in the sequel.

Definition 20 Let (X, d) be a convex metric space and A, B be two nonempty subsets of X. A mapping $f : A \to B$ is called *pq*-affine if

- (i) *A* is *p*-starshaped set and *B* is *q*-starshaped set;
- (ii) $f(W(x, p, \lambda)) = W(fx, q, \lambda).$

Definition 21 Let *A* and *B* be two nonempty subsets of convex metric space (X, d). Let *A* be a *p*-starshaped set and *B* be a *q* starshaped set. Let *f*, *g*, *S*, and *T* be four nonself-maps from *A* to *B*. Two pairs (f, S) and (g, T) are said to satisfy common property (E.A.) with respect to *q* if there exists two sequences $\{x_n\}$ and $\{y_n\}$ in *A* such that for all $\lambda \in [0, 1]$

$$\lim_{n \to \infty} fx_n = \lim_{n \to \infty} S_{\lambda} x_n = \lim_{n \to \infty} gy_n = \lim_{n \to \infty} T_{\lambda} y_n = t$$

where $S_{\lambda}x = W(Sx, q, \lambda)$ and $T_{\lambda}y = W(Ty, q, \lambda)$.

Definition 22 Let (X, d) be a convex metric space and A and B be two nonempty subsets of X such that B is q-starshaped set. A pair (f, S) of two nonself-maps from A to B is said to be proximally commuting if for some $\lambda \in [0, 1]$ whenever $d(x, W(Su, q, \lambda)) = d(y, fu) = d(A, B) \Longrightarrow W(Sy, q, \lambda) = fx.$

If *A* and *B* are two nonempty subsets of a metric space (X, d), we define the following two sets.

$$A_0 = \{x \in A : d(x, y) = d(A, B) \text{ for some } y \in B\},\$$

$$B_0 = \{y \in B : d(x, y) = d(A, B) \text{ for some } x \in A\}.$$

Definition 23 (Sankar Raj, preprint) If $A_0 \neq \phi$, then the pair (A, B) is said to have P-property if and only if for any $x_1, x_2 \in A_0$ and $y_1, y_2 \in B_0$

$$d(x_1, y_1) = d(A, B)$$
 and $d(x_2, y_2) = d(A, B) \Longrightarrow d(x_1, x_2) = d(y_1, y_2).$

Now we presents a best proximity point theorem:

Theorem 24 Let (A, B) be a pair of nonempty, closed subsets of a convex metric space (X, d). Suppose that A is p-starshaped and B is q-starshaped set with Property (I). Also suppose that A_0 is closed. Let f, g, S and, T be continuous nonself maps from A to B satisfying the conditions:

- (i) Two pairs (f, S) and (g, T) satisfying common property (E.A.) w.r.t q and proximally commuting;
- (ii) $T(A) \subseteq f(A), S(A) \subseteq g(A), f(A_0) \subseteq B_0, g(A_0) \subseteq B_0;$
- (iii) The pair (A, B) has P-property;
- (iv) f, g, S and, T satisfying the condition $d(Sx, Ty) \le \max\{d(fx, gy), dist(fx, [Sx, q]), dist(gy, [Ty, q]), \frac{1}{2}[dist(fx, [Ty, q]) + d(gy, [Sx, q])]\};$
- (v) Two mappings S and T are pq-affine.

then f, g, S and T have a best proximity point.

Proof For each $n \in N$, we define sequences $T_n : A \to B$ and $S_n : A \to B$ by $T_n y = W(Ty, q, \lambda_n)$ and $S_n x = W(Sx, q, \lambda_n)$ for all $x, y \in A$ and λ_n is a sequence in (0, 1) such that $\lambda_n \to 1$

Consider

$$d(S_nx, T_ny) = d(W(Sx, q, \lambda_n), W(Ty, q, \lambda_n)).$$

By using Property (I) for the set B

$$\begin{aligned} d(W(Sx,q,\lambda_n), W(Ty,q,\lambda_n)) &\leq \lambda_n d(Sx,Ty) \\ &\leq \lambda_n \max\{d(fx,gy), dist(fx, [Sx,q]), dist(gy, [Ty,q]), \frac{1}{2}[dist(fx, [Ty,q]) + dist(gy, [Sx,q])]\} \\ &\leq \lambda_n \max\{d(fx,gy), dist(fx, S_nx), dist(gy, T_ny), \frac{1}{2}[dist(fx, T_ny) + dist(gy, S_nx)]\} \\ &\implies d(S_nx, T_ny) \leq \lambda_n \max\{d(fx,gy), dist(fx, S_nx), dist(gx, T_ny), dist(gy, T_ny), \frac{1}{2}[dist(fx, T_ny) + dist(gy, S_nx)]\} \end{aligned}$$

Now $T(A) \subseteq f(A)$ we can prove that $T_n(A) \subseteq f(A)$. For this purpose, consider

$$y \in T_n(A)$$

$$y = T_n x \text{ for some } x \in A$$

$$y = W(Tx, q, \lambda_n).$$

T is *pq*-affine and *A* is *p*-starshaped set

$$y = T(W(x, p, \lambda_n)) \subseteq T(A) \subseteq f(A)$$
$$\implies y \in f(A)$$
$$\implies T_n(A) \subseteq f(A).$$

Similarly it can be proved that $S_n(A) \subseteq f(A)$. Now $T_n(A) \subseteq f(A)$ so for fixed $x_0 \in A$, there exists an element $x_1 \in A$ such that $T_n x_0 = fx_1$ similarly a point $x_2 \in A$ can be chosen such that $S_n x_1 = gx_2$, continuing in process, we can obtain a sequence $\{x_{2n}\} \in A$ such that

$$fx_{2n+1} = T_n x_{2n}$$
 and $gx_{2n+2} = S_n x_{2n+1}$. (20)

Since $f(A_0) \subseteq B_0$ and $g(A_0) \subseteq B_0$, there exists $\{u_n\} \in A_0$ such that

$$d(u_{2n}, fx_{2n+1}) = d(A, B)$$
 and $d(u_{2n+1}, gx_{2n+2}) = d(A, B).$ (21)

As the pair (*A*, *B*) has *P*-property then by Eq. (21) $d(u_{2n}, u_{2n+1}) = d(fx_{2n+1}, gx_{2n+2})$.

By using Eq. (20), we have $d(u_{2n}, u_{2n+1}) = d(T_n x_{2n}, S_n x_{2n+1})$. Using Property (I) and the condition (iv), we can write the expression

$$\begin{aligned} d(S_n x_{2n+1}, T_n x_{2n}) &\leq \lambda_n \max\{d(fx_{2n+1}, gx_{2n}), d(fx_{2n+1}, S_n x_{2n+1}), d(gx_{2n}, T_n x_{2n}), \\ &\qquad \frac{1}{2}[d(fx_{2n+1}, T_n x_{2n}) + d(gx_{2n}, S_n x_{2n+1})]\} \\ &= \lambda_n \max\{d(u_{2n}, u_{2n-1}), d(u_{2n}, u_{2n+1}), d(u_{2n-1}, u_{2n}), \\ &\qquad \frac{1}{2}[d(u_{2n}, u_{2n}) + d(u_{2n-1}, u_{2n+1})]\} \\ &= \lambda_n \max\{d(u_{2n}, u_{2n-1}), d(u_{2n}, u_{2n+1}), \frac{1}{2}d(u_{2n-1}, u_{2n+1})\}. \end{aligned}$$

Hence $d(u_{2n}, u_{2n+1}) \le \lambda_n \max\{d(u_{2n}, u_{2n-1}), d(u_{2n}, u_{2n+1}), \frac{1}{2}d(u_{2n-1}, u_{2n+1})\}$

$$\Longrightarrow d(u_{2n}, u_{2n+1}) \le \lambda_n d(u_{2n}, u_{2n-1}).$$

$$(22)$$

Similarly

$$d(u_{2n+1}, u_{2n+2}) = d(fx_{2n+3}, gx_{2n+2}) = d(T_n x_{2n+2}, S_n x_{2n+1})$$

$$d(u_{2n+1}, u_{2n+2}) = d(T_n x_{2n+2}, S_n x_{2n+1}) \quad \text{and}$$

$$d(S_n x_{2n+1}, T_n x_{2n+2}) \le \lambda_n \max\{d(fx_{2n+1}, gx_{2n+2}), d(fx_{2n+1}, S_n x_{2n+1}), d(gx_{2n+2}, T_n x_{2n+2}), \frac{1}{2}[d(fx_{2n+1}, T_n x_{2n+2}) + d(gx_{2n+2}, S_n x_{2n+1})]\}$$

$$= \lambda_n \max\{d(u_{2n}, u_{2n+1}), d(u_{2n}, u_{2n+1}), d(u_{2n+1}, u_{2n+2}), \frac{1}{2}[d(u_{2n}, u_{2n+2}) + d(u_{2n+1}, u_{2n+2})]\}$$

$$\Longrightarrow (u_{2n+1}, u_{2n+2}) \le \lambda_n \max\{d(u_{2n}, u_{2n+1}), d(u_{2n+1}, u_{2n+2}), \frac{1}{2}d(u_{2n}, u_{2n+2})\}$$
Hence
$$(u_{2n+1}, u_{2n+2}) \le \lambda_n d(u_{2n}, u_{2n+1}).$$
(23)

From Eqs. (22) and (23), we obtain

$$d(u_n, u_{n+1}) \le d(u_{n-1}, u_n).$$
(24)

This implies

$$d(u_n, u_{n+1}) \le (\lambda_n)^n d(u_0, u_1).$$
(25)

Let $m, n \in \mathbb{N}$ and m < n, we have

$$d(u_m, u_n) \le d(u_m, u_{m+1}) + d(u_{m+1}, u_n)$$

$$\le d(u_m, u_{m+1}) + d(u_{m+1}, u_{m+2}) + d(u_{m+2}, u_n)$$

$$\le d(u_m, u_{m+1}) + d(u_{m+1}, u_{m+2}) + \dots + d(u_{n-1}, u_n).$$

By using Eq. (25), we come across

$$d(u_m, u_n) \leq (\lambda_n)^m d(u_0, u_1) + (\lambda_n)^{m+1} d(u_0, u_1) + \dots + (\lambda_n)^{n-1} d(u_0, u_1)$$

$$\leq (\lambda_n)^m [d(u_0, u_1) + \lambda_n d(u_0, u_1) + \dots + (\lambda_n)^{n-m-1} d(u_0, u_1)]$$

$$= (\lambda_n)^m [1 + \lambda_n] + (\lambda_n)^2 + \dots + (\lambda_n)^{n-m-1}]d(u_0, u_1)$$

$$= (\lambda_n)^m \left[\frac{1}{1 - \lambda_n}\right] d(u_0, u_1) \to 0 \text{ when } m \to \infty.$$

 \implies $d(u_m, u_n) \rightarrow 0$ when $m \rightarrow \infty$ this implies $\{u_n\}$ is a Cauchy sequence. Since $\{u_n\} \subset A_0$ and A_0 is closed subset of the complete metric space (X, d), we can find $u \in A_0$ such that $\lim_{n \rightarrow \infty} u_n = u$.

Since (*f*, *S*) and (*g*, *T*) have common property (*E.A.*) with respect to *q* so there exists a sequence $\{u_m\}$ in *A* such that

$$\lim_{m \to \infty} f u_m = \lim_{m \to \infty} S_{\lambda} u_m = \lim_{m \to \infty} g u_m = \lim_{m \to \infty} T_{\lambda} u_m = t$$
$$\lim_{m \to \infty} T_{\lambda} u_m = \lim_{m \to \infty} W(T u_m, q, \lambda)$$
and
$$\lim_{m \to \infty} S_{\lambda} u_m = \lim_{m \to \infty} W(S u_m, q, \lambda).$$

Since $\lambda_n \in (0, 1)$, we have

$$\lim_{m \to \infty} T_n u_m = \lim_{m \to \infty} W(Tu_m, q, \lambda_n)$$
$$= \lim_{m \to \infty} T_{\lambda_n}(u_m)$$
$$= t \in B.$$

Thus, we have

$$\lim_{n \to \infty} g u_n = \lim_{n \to \infty} T_n u_m = t \in B.$$
(26)

Similarly

$$\lim_{m \to \infty} S_n u_m = \lim_{m \to \infty} W(Su_m, q, \lambda_n)$$
$$= \lim_{m \to \infty} S_{\lambda_n} u_m$$
$$= t \in B.$$

and so

$$\lim_{m \to \infty} f u_m = \lim_{m \to \infty} S_n u_m = t \in B.$$
(27)

Hence in light of Eqs. (26) and (27), we obtain

$$\lim_{m \to \infty} f u_m = \lim_{m \to \infty} S_n u_m = \lim_{m \to \infty} g u_m = \lim_{m \to \infty} T_n u_m = t \in B.$$
(28)

Since *f*, *g*, *S* and, *T* are continuous so *f*, *g*, *S_n* and *T_n* are continuous and $u_n \rightarrow u$. Then from Eq. (28)

$$fu = S_n u = gu = T_n u. ag{29}$$

Since $f(A_0) \subseteq B_0$, there exists $x \in A_0$ such that

$$d(x, fu) = d(x, gu) = d(x, S_n u) = d(x, T_n u) = d(A, B).$$
(30)

As (f, S_n) and (g, T_n) proximally commuting, so

$$fx = gx = S_n x = T_n x. ag{31}$$

Taking limit $n \to \infty$ in Eqs. (29) and (31) we have

$$fu = Su = Tu = gu$$
 and $fx = gx = Sx = Tx.$ (32)

Since $f(A_0) \subseteq B_0$, there exists $z \in A_0$ such that

$$d(z, fx) = d(z, gx) = d(z, S_n x) = d(z, T_n x) = d(A, B).$$

Because the pair (*A*, *B*) has *P*-property so $d(x, z) = d(S_n u, T_n x)$

$$d(x,z) = d(S_nu, T_nx)$$

$$\leq \lambda_n \max\{d(fu, gx), dist(fu, S_nu), dist(gx, T_nx), \frac{1}{2}[dist(fu, T_nx) + dist(gx, S_nu)]\}$$

$$\leq (\lambda_n)\{d(x,z)\}.$$

This implies that $(1 - \lambda_n)d(x, z) \le 0$. So, x = z and hence

$$d(A,B) = d(x,fx) = d(x,gx) = d(x,Sx) = d(x,Tx).$$
(33)

Suppose that y is another best proximity point of the mappings f, g, S and T such that

$$d(A,B) = d(y,fy) = d(y,gy) = d(y,Sy) = d(y,Ty).$$
(34)

Using Eqn. (29) and *P*-property for the pair (*A*, *B*), we get that x = y.

Conclusion

In this note, we defined the common property (E.A.) in the context of convex metric space that means here we assign the algebraic structure to the common property (E.A.) that is already exists in metric space. Due to this, we have been able to obtained a set of common fixed point theorems in which to ensure the existence of common fixed points the condition of range of one set is contained in other is not required. Thus, this newly introduced concept plays a great role in solving many kinds of physical sciences problems which can be recast in terms of common fixed point problems.

Authors' contributions

All the authors contributed equally and significantly in writing this article. All authors read and approved the final manuscript.

Acknowledgements

The authors would like to express their gratitude to the editor and the refrees for their valuable suggestions to improve the presentation of this manuscript.

Competing interests

The authors declare that they have no competing interests.

Received: 15 July 2016 Accepted: 27 September 2016 Published online: 09 November 2016

References

Agarwal RP, Bisht RK, Shahzad N (2014) A comparison of various noncommuting conditions in metric fixed point theory and their applications. Fixed Point Theory Appl 2014(38):1–33

Al-Thagafi MA, Shahzad N (2006) Noncommuting selfmaps and invariant approximation. Nonlinear Anal Theory Methods Appl 64(12):2778–2786

Aamri M, El Moutawakil D (2002) Some new common fixed point theorems under strict contractive conditions. J Math Anal Appl 270:181–188

Beg I, Azam A (1987) Fixed point on starshaped subset of convex metric spaces. Indian J Pure Appl Math 18:594–596 Bouhadjera H, Godet-Thobie C (2009) Common fixed theorems for pairs of subcompatible maps, 17 June 2009. arxiv:0906.3159 v1[math.FA]

Chauhan S, Pant BD (2014) Fixed point theorems for compatible and subsequentially continuous mappings in Menger spaces. J Nonlinear Sci Appl 7:78–89

Chen J, Li Z (2007) Common fixed points for Banach operators in best approximations. J Math Anal Appl 336:1466–1475 Ciric L (1993) On some discontinuous fixed point theorems in convex metric spaces. Czechoslov Math J 43(188):319–326 De la Sen M, Singh SL, Gordji ME, Ibeas A, Agarwal RP (2013) Best proximity and fixed point results for cyclic multivalued mappings under a generalized contractive condition. Fixed Point Theory Appl 2013(324):1–21

Eldred AA, Veeramani P (2006) Existence and convergence of best proximity points. J Math Anal Appl 323(2):1001–1006 Fu JY, Huang NJ (1991) Common fixed point theorems for weakly commuting mappings in convex metric spaces. J Jianoxi Unix 3:39–43

Guay MD, Singh KL, Whitfield JHM (1982) Fixed point theorems for nonexpansive mappings in convex metric spaces. In: Proceedings of conference on nonlinear Analysis. Lecture Notes in Pure and Applied Mathematics, vol 80. Dekker, New York, pp 179–189

Huang NJ, Li HX (1996) Fixed point theorems of compatible mappings in convex metric space. Soochow J Math 22(3):439–447

Imdad M, Ali J, Tanveer M (2011) Remarks on some recent metrical common fixed point theorems. Appl Math Lett 24:1165–1169

Jungck G (1986) Compatible mappings and common fixed points. Int J Math Math Sci 4:771–779

Kumar A, Rathee S (2014) Some common fixed point and invariant approximation results for nonexpansive mappings in convex metric space. Fixed Point Theory Appl 2014(1):1–14

Liu Y, Wu J, Li Z (2005) Common fixed points of single-valued and multi-valued maps. Int J Math Sci 19:3045–3055 Pant RP (1998) Common fixed points for four mappings. Bull Calcutta Math Soc 90:281–286

Prolla JB (1983) Fixed-point theorems for set-valued mappings and existence of best approximants. Numer Funct Anal Optim 5(4):449–455

Rathee S, Kumar A (2014a) Some common fixed point and invariant approximation results with generalized almost contractions. Fixed Point Theory Appl 2014(23):1–16

Rathee S, Kumar A (2014b) Some common fixed point results for modified subcompatible maps and related invariant approximation results. Abstr Appl Anal 2014:1–9

Reich S (1978) Approximate selections, best approximations, fixed points, and invariant sets. J Math Anal Appl 62(1):104–113

Rouzkard F, Imdad M, Nashine HK (2012) New common fixed point theorems and invariant approximation in convex metric space. Bull Belg Math Soc Simon Stevin 19:311–328

Sankar Raj V (2011) A best proximity point theorem for weakly contractive non-self mappings. Nonlinear Anal Theory Methods Appl 74:4804–4808

Sankar Raj V Banach contraction principle for non-self mappings. Preprint

Sehgal VM, Singh SP (1988) A generalization to multifunctions of Fans best approximation theorem. Proc Am Math Soc 102(3):534–537

Shahzad N (2001) Invariant approximations and R-subweakly commuting maps. J Math Anal Appl 1:39–45

Takahashi WA (1970) A convexity in metric spaces and nonexpansive mapping I. Kodai Math Semin Rep 22:142–149

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Immediate publication on acceptance
- Open access: articles freely available online
- ► High visibility within the field
- ► Retaining the copyright to your article

Submit your next manuscript at > springeropen.com